\\m\\

KEREW &

iidy ) ) !
A K A TR 50 50 3 3
TLE F & T R &R 100% 100% 3 3
H T = A AT
i,mlf/ﬁ;ﬁ}fm\ﬁ 904 90% A 4
;_‘ié_
BE [wAnmmEsx | -
ruganrex | TR | FER 4
55 A R R
P "y
Eé“égijing%j“é% 90% 90% 4 4
; REES
WE DuoeE 6% | |
¥ (TEpRE | TAR | FRE L
%ﬁ‘)” i g
SRR aMmwazas | RER | AZR 5
e | HAK T ERE | ARE |
EE | 58 REAR 5 E | +| S
(20 [ &A% | FAAREATE | FHX | FHK
a4 | R %E = S 84 8
Bk % 2%
Yt | ERasTaLE | TAR ) ARE 5
G
7
e | BEX | wanndimant | o 0
%()10 FIE | hRER#R Al 4 #B ) 0B
ISR 100 | 98.9




